
شھادة الضمان ودلیل المستخدم

20.30.1423.00



-2-

2 / 5 1 / 5 3 / 5 

4 / 5 5 / 5

 13.07.01.108 x 713.07.01.110 x 31
M6

13.01.01.979 x 8

18.30.1423.202 x 8
M6X13

13.03.01.021 x 64 13.01.01.111 x 24 13.02.01.017 x 48 13.03.01.039 x 14
M6X55

13.07.01.109 x 2

13.07.01.093 x 4 13.07.02.212 x 4 13.03.01.019 x 4

13.07.01.672 x 10

13.03.01.027 x 5
M6X25 

13.07.02.189 x 1

13.07.01.016 x 1

4X50 
13.02.01.010 x 3

1 / 5 2 / 5

18.30.1423.003 x 1

18.30.1423.004 x 1

18.30.1423.005 x 1

18.30.1423.006 x 1 18.30.1423.201 x 4

13.01.01.383 x 9

18.30.1423.009 x 1 18.30.1423.011 x 1 18.30.1423.012 x 1

18.30.1423.013 x 1 18.30.1423.014 x 1 18.30.1423.019 x 1

18.30.1423.010 x 1 18.30.1423.015 x 1 18.30.1423.016 x 1

18.30.1423.017 x 1 18.30.1423.018 x 1 18.30.1423.020 x 3

13.09.01.141 x 1613.01.01.718 x 3
Ø20

13.07.01.638 x 10



-3-

3 / 5

4 / 5

18.30.1423.007 x 2

18.30.1423.008 x 1

18.30.1423.007 x 2

18.30.1423.008 x 1

5 / 5

1

13.01.01.979 x 4

18.30.1423.001

13.07.01.108 x 2 

13.01.01.979 x 4

13.07.01.108 x 5 

18.30.1423.002

2

18.30.1423.001 x 1 18.30.1423.002 x 1



-4-

3

!

13.01.01.111 x 4 

13.07.01.110 x 2 

18.30.1423.201 

!

13.02.01.017 x 12 

13.03.01.021 x 8 

18.30.1423.202 x 2 
18.30.1423.003

!

13.01.01.111 x 4 

13.07.01.110 x 2 

13.03.01.021 x 8 

18.30.1423.202 x 2 

18.30.1423.201 

!

13.02.01.017 x 12 

18.30.1423.005

4



-5-

5

13.03.01.021 x 16 

4x

13.01.01.383 x 4

18.30.1423.001

18.30.1423.002

18.30.1423.003

18.30.1423.005

!

13.01.01.111 x 6 

13.07.01.110 x 3 

6

18.30.1423.019 x 3

7

13.01.01.111 x 4 
18.30.1423.020

8

4X50 
13.02.01.010 x 3

18.30.1423.019

18.30.1423.020 x 3

13.01.01.718 x 3
Ø20



-6-

9

3x
13.01.01.383 x 3

13.03.01.021 x 16 

18.30.1423.202 x 4 

18.30.1423.201 x 2 

13.02.01.017 x 24 

!
10

18.30.1423.004

18.30.1423.006



-7-

11
13.03.01.021 x 16

M6X13

18.30.1423.006

18.30.1423.004

12

1

2

13.07.01.638 x 5

13.07.01.110 x 5

13.07.01.672 x 5

!

13.01.01.111 x 3 

13.07.01.110 x 2

18.30.1423.011

18.30.1423.009

1

2



-8-

13

18.30.1423.011

18.30.1423.009

13.07.01.109 x 1 

14

13.07.01.110 x 5

1

2

13.07.01.016

13.03.01.027 x 4
M6X25

18.30.1423.009



-9-

15

13.09.01.141 x 16 

18.30.1423.015

18.30.1423.017 18.30.1423.018

18.30.1423.016

13.07.01.016

13.03.01.039 x 8
M6X55

16

18.30.1423.013

18.30.1423.014

18.30.1423.018

18.30.1423.017

18.30.1423.016

18.30.1423.015

17

13.07.01.016

13.03.01.039 x 5
M6X55



-10-

19
18.30.1423.010

18.30.1423.012

13.07.01.109 x 1

18 18.30.1423.012

18.30.1423.010

13.07.01.638 x 5

2

13.07.01.110 x 5

1

13.07.01.672 x 5

1

2

!

13.01.01.111 x 3

13.07.01.110 x 2 

20

13.03.01.027 x 1
M6X25

13.07.01.016

1

2

13.07.01.110 x 5

18.30.1423.010



-11-

21

13.07.02.212 x 4

13.07.02.189

13.03.01.019 x 4

13.03.01.039 x 1
M6X55

13.07.01.016

18.30.1423.007 x 2
22

13.01.01.383 x 2



-12-

23

24

!

18.30.1423.007 x 2 18.30.1423.008 x 2

18.30.1423.007

18.30.1423.008

18.30.1423.008

18.30.1423.007

13.07.01.016 

13.07.01.093 x 4 


	Sayfa 1
	Sayfa 2
	Sayfa 3
	Sayfa 4
	Sayfa 5
	Sayfa 6
	Sayfa 7
	Sayfa 8
	Sayfa 9
	Sayfa 10
	Sayfa 11
	Sayfa 12

